
ELLISSE - TROVARE 
L’EQUAZIONE

M3041



11 ) fuochi su y → b > a passa per P ( =; -3-55 )
e = f- seniore maggiore b

e = E
b È -1¥ _-1

Passa per P 22

gg
+ LESTI? 1 → ± 12s

of
+

già
= I

36h2 + 12s al 30,262

È
=

TE
→ /

125 è-13GB? 90,262

/ c. = È b eccentricità

c' = b.2- of



| 12s È -1 3662 = 90? b
'

/
E- % E

| -

{Èlo? al| b.2- a
≥
,

b2

c? b? ai
-

-

Fsb? ai 1st
. {
" s ÈH +36 b? 9 %b2.bz

1-
=
--

-

Eg b
"
_ 112¥ b2 _ 3662=0 →¥b4=- -2%12=0

b? ( ☒ ti -202s) = 0 °) b? O NO

a) 81 b.
2-
2025 -0 → b? 2%5-25

b.2=25 e a
>
= Es . 2s = 9



C2 = 25 - 9=16 Riassunto 919 b?- 2s CE 16

✗
2

g-
+ È -1

Y -_ 1-3×+3 retta espl .

v. { 7=5×+3 ¥iI÷÷È⇔g- 0

0=13×+3 0=11+9 → ✗= -9 V11-9%0)
1/2=10.3) V4 / 0; - 3)



a. = 9 b. =3 * +42-9=1

• circonferenza ✗
2

-1g
? 20

"" "

÷:÷:
"

.

G- 3 0%+3%-2=1 posata P

a > b

¥2 zsàb



100 b2 -133607 = 2s 0? b? 100 ( of-9) + 33607 = ZSOÌ (0?-9){ 9 = a' - b2 { b2 = of - 9
100 OF - 900 + 336 al = 250$ - 22502

25 al - 661 È + 900 =o ai = y
2s y

?
- 661 Y + 900 =0 6611-j.FI = 25

Y -1,2 = 661 ±TÈ /
-50

=

\
661jg = 3%

25) se c? al - b' 9 = 2s - I → b? 16

3£ ) D= 3£ - B b? 3£ - 9 = 3612µs-17¥



È + 4% = 1
A
• •

B

{
✗2+12=20

È + E- 1

•
•

{
✗2+42=20 D C

" Itsy! so, {
✗≤ 20- y

?

16120 - y) -12542=400

✗2=20 -8£{ Était -1247400 -_ { 9%80 { y'= :]
{
×? % ×:* y:*
- ×

, =
✗E- gi-gi Yi

- hey



Al - Eg ; "Is ) BIG : "%-) c. (Y ; - "%-) ☐ 1- ; - "%-)

AREA : ÀB ◦BÌ

A
• •

B BÌ = 2 . h§I ÀB = 2 '§

area -- età . =/ ÈE
•

•

D C

AREA DELL' ELLISSE

A = Iab


